
Q. No.  Question  Option A  Option B  Option C  D
1 Eknath Shinde the newly elected 

CM of Maharashtra is 
A.19th CM of 
Maharashtra 

B. 20th CM of 
Maharashtra 

 C. 21th CM of 
Maharashtra 

D.25th CM of 
Maharashtra 

2 New NITI Aayog newly appointed 
CEO is?

Parameshwaran 
Iyer

Shri Suman Bery
Rao Inderjit 
Singh

None of the 
above 

3 Which of the following is not a 
water-borne disease?

Typhoid Hepatitis  Cholera  Dengue 

4 How many spokes Ashoka Chakra 
has  

  23   22 24 25

5 2022 Indian president elections 
will be 

 17th presidential 
election

 16th presidential 
election

  18th presidential 
election

15th presidential 
election

6 The Constitution of India was 
adopted in

A.      1948 B.       1949 C.       1950 D. 1947

7 How many sustainable 
development goals UNDP has ?

A.     7 B.     17 C.     15 D.     16

8 Who is the governor of  Reserve 
bank of India ?

  Shaktikanta Das   Sashikanta Das  Shantikanta Das
   None of the 
above 

9 Which among the following is a 
qualitative tool of monetary 
policy?

    Bank Rate   Credit Ceiling
    Cash Reserve 
Ratio

   Credit 
rationing

10
What is the unit of Sound? A.     Newton B.     Decibel C.     Calorie 

D.     None of the 
above

11 In which language National 
Anthem of India was originally 
written ?

A.     Devanagari   B.     Pali C.     Bengali  D.     Sanskrit

12 Which among the following is the
most abundant Green-House-
Gas(GHG) in the earth’s
atmosphere?

 Carbon dioxide Water Vapour   Sulphur Dioxide
 Tropospheric 
Ozone

13 Which among the following key is
used for checking grammar and
spelling?

A.    F3 B. F5 C.    F7 D.     F9

14 What is the current number of 
females per 1000 males in India ?

A.   987 B. 998 C.   1020
D.    none of the 
above 

15 In a certain code language 
COMPUTER is written as 
RFUVQNPC. How will MEDICINE be 
written in that code language?

A.     MFEDJJOE B.     EOJDEJFM C.     MFEJDJOE D.     EOJDJEFM

16 6, 11, 21, 36, 56, ?? A.     91 B.     51 C.     81 D.     42
17 Anil introduces Akash as the son of 

the only brother of his fathers 
wife. How is Akash related to Anil  
?

A.     Cousin B.     Son C.     Uncle D.     Son in law

18 Pointing to a man on the stage, 
Natasha said, “He is the brother of 
the daughter of the wife of my 
husband.” How the man on the 
stage related to Natasha ?

A.     Son B.     Husband C.     Cousin D.     Nephew
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19 AK, EO, IS,_____,QA, UE A.     LV B.     MW C.     NX D.     LW
20 In a certain code language to ‘256’ 

means ‘you are a good’. ‘637’ 
A.     2 B.     5 C.     8 D.     3

21 The basis of the following A.    Definite B.    Proper C.    Common D     Descriptive 
22 A,P,R,X,S and Z are sitting in a row. 

S and Z are in the Centre. A and P 
A.      S B.       X C.       Z

D.      None of 
the above

23 X travels a distance of 5 km in 
south direction. He turns to his 
right. After walking 3 km, he turns 
to the left and walks 5 km. Now in 
which direction is he from the 
starting place?

A.     West B.     South C.     South West D.     North 

24 If it is Sunday today. What will be 
the day after 60 days?

A.      Sunday B.       Thursday C.       Tuesday D.      Friday

25 The mean of the ages of father 
and his son is 27 years. After 18 
years, father will be twice as old as 
his son. Their present ages are?

A.     42,12 B.     40,14 C.       30,24 D.     36,18

26 Anil is twice as old as Sunita. Three 
years ago, he was three times as 
old as Sunita. The present age of 
Anil is ?

A.     6 Years B.     8 Years C.     12 Years D.     16 Years

27 A student is ranked 13th from the 
right and 8th from the left. How 
many students are there in total?

A.     18 B.     19 C.     20 D.     21

28 4 men & 6 women can complete a 
work in 8 days, while 3 men and 7 
women can complete it in 10 days. 
In how many days will 10 women 
complete it ?

A.     35 B.     40 C.     30 D.     25

29 How many numbers between 100 
and 300 begin or end with 2?

A.     100 B.     110 C.     120 D.     180

30 In a class of 100 students 50 
students passed in science and 70 
passed in Hindi five students failed 
in both science and Hindi find out 
how many students passed in both 
the subjects?

A.      28 B.       40 C.       35 D.      25

31 Two numbers are in the ratio 2:5. 
If 16 is added to both the 
numbers, there ratio become 1:2. 
The numbers are?

A.     16, 40 B.     20, 50 C.     28, 70 D.     32, 80

32 A class trip is planned for 63 
students. There must be at least 
one adult for every seven 
students. What is the minimum 
number of people on the trip?

A.    56 B.     63 C.     72 D.  96



33
There were six people in the party. 
Each individual shook hands once 
with each other. Find out how 
many handshakes took place?

A.     15 B.     12 C.     10 D.  6

34 A man spends 75% of his income. 
His income is increased by 20%, 
and he increased his expenditure 
by 10%. His savings are increased 
by?

A.     10% B.     25% C.     32% D.     50%

35 The average weight of 8pearsons 
increases by 2.5kg when a person 
weighing 60 kg is replaced by a 
new person. What is the weight of 
the new person?

A.     76 kg B.     78 kg C.     85 kg 
D.     None of the 
above

36 A person crosses a 1,200 m long 
street in 10 minutes. What is his 
speed in kmph 

A.     7.2 kmph B.     8 kmph C.     9 kmph D.     7 kmph

37 In a certain code, FHQK means
GIRL. How will WOMEN be written
in the same code? 

A.     VNLDM B.     FHQKN C.     XPNFO D.    VLNDM

38 The missing number in the series  
40, 120, 60, 180, 90, ?, 135 is

A.     110 B.     270 C.    105 D.     210

39
His pocket has been picked.

  Someone has 
picket his pocket 

 Picked has been 
his pocket 

   He had his 
pocket picked 

 Picking has been 
done to his 
pocket

40 The plants and vegetables of a 
certain region.

A.     Flora B.     Fauna C.     Forest D.     Vegetation

41 The art of beautiful handwriting A.     Painter B.     Calligraphy C.     Palegraphy D.     Draftsman
42 ALERT A.     Energetic B.     Observant C.     Intelligent D.     Watchful
43 The island looks very _____ 

because there are hardly any 
inhabitants dwelling in it. (A) 
parlous
(B) perilous
(C) commodious
(D) picturesque
(E) deserted
(F) desolate

A.     A and F B.     A and B C.     F and E D.     C and E

44 One who is an expert in judging 
art, music, etc.

A.     Artist B.     Expert C.     Musician
D.     
Connoisseur

45 A thing kept in the memory of a 
person.

A.     Gift B.     Elegy C.     Momento D.     Epitaph

46 Choose the correct spelt word out 
of the given alternatives.

A.     Commander B.     Comander C.     Comander D.     Comandar

47 Choose the correct spelt word out 
of the given alternatives.

A.     Pasanger B.     Passenger C.     Pessenger D.     Pasanger

48
 To see red A.     To find fault B.     To criticise C.     To be angry

D.     None of the 
above 

49 Synonyms : Predict A.     Decide B.     Prevent C.     Discover D.     Foretell



50
Antonyms: Secret A.     Friendly B.     Covert C.     Overt 

D.     None of the 
above 

51
World Earth Day is celebrated on A.     22 April B.     21 April C.     23 April 

D.     None of the 
above 

52 Which of the following are 
included in the biosphere 

A.     Hydrosphere B.     Lithosphere C.     Atmosphere
D.     All of the 
above

53 Total Organic matter in an 
ecosystem is called  

A.     Biome
B.     Biotic 
Community

C.     Plants D.      Biomass

54 Industries generating hazardous 
waste or classified as 

A.     brown B.     green C.     yellow D.     red

55 Which of the following metal is 
responsible for Minamata disease

A.     Mercury B.     Cadmium C.     Chromium D.      Iron 

56
Ozone depletion is caused due to 
increase in the level of 

A.     water vapour
B.     
chlorofluorocarb
on 

C.     oxygen 
D.     carbon 
monoxide 

57 The main source of water 
pollution is 

A.     Sewage water B.     Acid rain
C.     Industrial 
pollutant

D.     None of the 
above

58
The Richter scale measures

A.     Number of 
deaths 

B.     Size of its 
epic centre 

C.     The energy 
released by an 
earthquake 

D.   The body 
waves count 

59 India exploded her first 
underground nuclear device at 

A.     Kota B.     Ranchi C.     Jaipur D.     Pokhran 

60 Which of the following is the 
regulator of higher education

A.     NCERT B.     AICTE C.     UGC D.     MHRD

61
Vikram Sarabhai space research 
Centre is located at 

A.     
Thiruvananthapur
am 

B.     Hyderabad C.     Bengaluru D.     New Delhi 

62
The foundation training of 
selected IAS officers is conducted 
at 

A.     Lal Bahadur 
Shastri national 
Academy of Public 
administration 

B.     MG Institute 
of Public 
administration 

C.     UPSC 
D.     all state 
capital

63 The Constitution of India is divided 
into 

A.     20 parts B.     25 parts C.     24 parts D.     42 parts

64 Which one of the following was 
the chairperson of the drafting 
committee of Indian constitution 

A.     Rajendra 
Prasad 

B.     Tej Bahadur 
Sapru 

C.     
Rajagopalachari 

D.     BR 
Ambedkar 

65 The time taken by the constituent 
assembly to frame the 
Constitution of of the country was

A.     3 years 2 
months and 10 
days

B.     2 years 11 
months and 18 
days 

A.     year 10 
months and 11 
days 

D.     none of the 
above

66
Niti Aayog is a 

A.     Statutory 
body 

B.     Executive 
body 

C.     
Autonomous 
body 

D.     Advisory 
and non 
statutory body 

67 Who holds the power of judicial 
review in India 

A.     President 
B.     Prime 
minister 

C.     Supreme 
court 

D.     Parliament

68 National youth Day observed 
across India on 12th January is the 
birth anniversary of 

A.     Swami 
Dayananda 
Saraswathi

B.     Swami 
Vivekananda 

C.     Aurobindo 
Ghosh 

D.     
Rabindranath 
Tagore

69 A judge of the Supreme Court 
vacates his office on attaining 

A.     65 years of 
age 

B.     70 years of 
age 

C.     62 years of 
age 

D.     None of the 
above



70
The Parliament of India consist of 

A.     Lok Sabha 
only 

B.     Rajya Sabha 
only 

C.     Lok Sabha 
and Rajya Sabha 

D.     Lok Sabha, 
Rajya Sabha and 
President

71
FORTRAN is an acronym for 

A.     File 
translation 

B.     Format 
translate 

C.     Formula 
translation 

D.     Floppy 
translation 

72 which of the following belongs to 
1st generation of computers 

A.     AC B.     IBM 1401 C.     IBM 8090 D.     UNIVAC

73 The collection of eight bits is 
called 

A.     byte B.     word C.     file D.     folder

74 A computer program that converts 
an entire program into machine 
language is called an 

A.     Interpreter B.     Simulator C.     Compiler 
D.     
Commander

75 The output quality of a printer is 
measured by 

A.     dot per inch.
B.     per square 
inch 

C.     dots printed 
per unit time 

D.     all of the 
above 

76 Errors in computer program are 
called 

A.     Follies B.     Mistakes C.     Bugs D.     Spam 

77
CAD stands for  

A.     Computer 
aided design 

B.     Computer 
Algorithm for 
design 

C.     Computer 
application in 
design 

D.     All of the 
above

78
MICR stands for 

A.     Magnetic ink 
character reader 

B.     Magnetic 
ink code reader 

C.     Magnetic 
ink cases reader 

D.     None of the 
above

79 The unsolicited commercial email 
is usually referred to as 

A.     junk B.     hoaxes C.     spam D.     hypertext

80 A small text files that a web server 
stores on a user hard drive when 
the user visit certain website is 
called 

A.     Cookie B.     History C.     Logjam 
D.     None of the 
above

81 Among them who scored the 
second highest marks? 

A.     F B.     E C.     A
D.     Cannot be 
determined

82 Among them who scored the 
second lowest marks? 

A.     A B.     G C.     F
D.      Cannot be 
determined 

83  How many people scored more 
marks than A? 

A.     5 B.     4 C.     3 D.     2 

84 What is the number of persons 
whose scores are in between the 
scores of F and B? 

A.     3 B.     2 C.     1 D.     0 

85
Which of the following is true?

A.     F scored 
more than E.

B.     B scored 
more than F

C.     G scored 
more than D

D.    F scored 
more than B

Directions (Q 81- Q 85) After the 2nd MOCK CSAT, Seven friends – A, B,C, D, E, F and G are comparing their 
scores in this exam. We know the following information about their scores.                                                           
o All of them had distinct scores.
o D scored the same marks as the average of the marks scored by A and B where A scored more marks than 
B.
o Both E and F scored less marks than C but more than G and the marks scored by G is not the least 
o The number of persons who scored more marks than D is same as the number of persons who scored less 
marks than D.
o A scored less marks than E.



86 Which of the following are the 
fundamental duties?                                                                                     
(1) To respect the National Flag.
(2) To protect and improve the 
natural environment.
(3) For a parent to provide 
opportunities for education to 
his/her child.
(4) To protect monuments and 
places of national importance.
Select the correct answer from the 
codes given:
Codes:

A.     (1), (2) and 
(3)

B.     (1), (2) and 
(4)

C.     (1), (3) and 
(4)

D.     (1), (2), (3) 
and (4)

87 Which among the following States 
has the highest number of seats in 
the Lok Sabha?

A.     Maharashtra B.     Rajasthan C.     Tamil Nadu
D.     West 
Bengal

88 If the binary equivalent of the 
decimal number 48 is 110000, 
then the binary equivalent of the 
decimal number 51 is given by

A.     110011 B.     110010 C.     110001 D.     110100

89

NMEICT stands for:

A.     National 
Mission on 
Education through 
ICT

B.     National 
Mission on E-
governance 
through ICT

C.     National 
Mission on E-
commerce 
through ICT

D.     National 
Mission on E-
learning through 
ICT

90 A computer has main memory of
960 KBytes. What is the exact
number of bytes contained in this
memory?

A.     960 x 8 B.     960 x 1000 C.     960 x 1024
D.     960 x 1024 
x 1024

91 Which of the following file format
is not a video file format?

A.     AW B.     .MOV C.     .MP4 .D.    JPEG

92 Bee-Honey, Cow-Milk, Teacher-? A.     Intelligence B.     Marks C.     Lessons D.     Wisdom
93 Given that in a code language, 

‘645’ means ‘day is warm’; ‘42’ 
means ‘warm spring’ and ‘634’ 
means ‘spring is sunny’; which 
digit represents ‘sunny’ ? 

A.     3 B.     2 C.     4 D.     5

94 lf the series 
4,5,8,13,14,17,22,........ is 
continued in the same pattern, 
which one of the following is not a 

A.     31 B.     32 C.     33 D.     35

95 If 75% of the students in a school 
are boys and number of girls is 
420 then what is the number of 

A.     1176 B.     1350 C.     1260 D.     1125

96 P,Q,R,S,T are sitting in a straight 
line facing north. P sits next to S 
but not to T.Q is sitting next to R, 
who sits on the extreme left 
corner. T does not sit next to Q. 
who sits to the left of S?

A.     P B.     Q C.     R
D.     None of the 
above 



97 X and Y are siblings. C and D are 
wife and husband, respectively; X 
is the only son of C. F is sister of D. 
how is Y related to F?

A.     Niece B.     Nephew C.     Uncle D.     Cousin

98 Oxygen: Burn :: Carbon dioxide: ? A.     Isolate B.     Foam C.     Extinguish D.     Explode
99 1, 1,4,8,9,27,16, ? A.     32 B.     64 C.     81 D.     256


